HANRNNOMN
Or-EFR

12539 Jomani Drive Bakersfield, CA 93312
P:877.757.9779 sales@hansonoffroad.com

JK ROCKSLIDER INSTALLATION INSTRUCTIONS
These instructions cover the installation of the following part numbers: JKRP2-P AND JKRP4-P.
Please read the instructions through completely before attempting the installation or drilling holes in
your vehicle.

Remove the factory fender bolt using a
10mm.

Find the rocker support that matches the
holes in the pinch weld. Using the
factory fender bolt you just removed and
the supplied 5/16"x1” bolts mount the
rocker support. Insert the 5/16"x1” bolts
with a flat washer thru the rocker
support. Tighten the 5/16” nylock with a
flat washer on the back side of the pinch
weld. Do this to all of the bolts that align
with a hole on the pinch weld.

Mask off the area of the car that the
rocker will come in contact with
including the fender flares. Lift the

the rocker into place. Bolt in place
using the 5/16”x1” bolts . Hand tighten
all of the bolts. Make sure that the
rocker is centered on the doors.

Once centered tighten the bolts.




Using a floor jack with a block of
wood wrapped in a towel, jack on
the out side of the rocker pushing it
tight against the jeep. Recheck
your alignment and recenter if

. necessary.

Using a 1/4” drill bit with a center
punch carefully pilot at the very center
of all 5 holes along the top of the
rocker. On the two forward holes be
sure to pilot through the second inner
layer. Once all of the holes are drilled
remove the rocker from the jeep.

Using a 3/8” drill bit, drill the remaining
holes thru the pinch weld using the
¥ rocker support as a guide.

Install the 5/16”x1” bolt through the rocker
support. Tighten the 5/16” nylock with a
flat washer on the back side of the

pinch weld. When finished you

should have the supplied 5/16” bolts
installed and the one factory

fender bolt.




Drill the upper holes with a 25/64” drill
bit, be sure to drill thru the second layer
on the 2 forward holes. Thread the nut
zert on to the supplied 2 1/2” allen
headed bolt thru the nut zert tool.
Thread the nut zert tool as short as you
can. Place the nut zert thru the hole you
drilled in the body. Using two wrenches
holding the inner wrench still and steady
against the body, loosen the 7/8” wrench
causing the nut zert to compress. Once
the tool is all the way open thread tool
tight again and thread in the allen bolt
the repeat the above procedure until the
nut zert is tight. Install all nut zerts at
this time.

Lift the rocker back into place. Tighten the
1/4”x1” allen bolts into the nut zerts. Use a med
strength thread locker on the 5/16"x 1” bolts then
tighten them through the bottom of the rocker
into the rocker support.

HARDWARE LIST

¥ IKRP2-P
ROCKER - SET

MOUNT RAIL - SET

§ /4 X % BUTTON HEAD BOLT - 6
Y, X 4 BUTTON HEAD BOLT- 2
1/, STOVER NUT - 2

Y, ID FENDER WASHER - 2
5/16 X % BOLT - 22

5/16 FLAT WASHER - 40

5/16 STOVER NUT - 15

CRUSH SLEEVE - 2

I RIVET NUT - 6

F* RIVET NUT TOOL (2PCS) - 1
INSTALL BOLTS - 2

JKRP4-P

ROCKER - SET

MOUNT RAIL - SET

Y X % BUTTON HEAD BOLT- 10
5/16 X 1 BOLT - 12

5/16 FLAT WASHER - 44
5/16 STOVER NUT - 22

5/16 TAPERED BOLT - 22
RIVET NUT - 10

RIVET NUT TOOL (2PCS) - 1
INSTALLBOLTS - 2




Note: The 2-door version of our rocksliders installs in the same basic fashion as
the 4-door version (included instruction sheet). This tech sheet will outline the
main difference.

Included with these rockers is a crush sleeve to be installed through the last
hole closest to the back of the jeep. There will be 1 sleeve installed per side (2
total). Once the pilot hole is drilled, using the rocker as the guide. This hole can
be opened up to ¥2” to allow the sleeve to slide through.

YOUWILL ONLY NEED TODRILL %' THROUGH THE OUTER BODY PANEL




	Page 1
	Page 2
	Page 3
	Page 4

